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Challenge Make a conjecture
about the next term in the
sequence, and then find it

Position

Value of Term





image1.tmp
Describe the pattern for each sequence. Then find the next three terms.
7.

~

2[3] 4
-1]6[13

9. 2,-6,18,~54,. .. 10. 600,-300,150, .. .

111 1 2,4, 11 1 1
" 224816 """ 12. -2,4,-8,16,... 13. 412’ 36 108"
Identify each sequence as arithmetic, geometric, both, or neither.
1. 2,5,10,17,26,... 15.1,4,9,16,25,...  16. 7,14,28,56,...
7. -2,-2,-2,...  18.300,60,12,24,... 19.84,63,42,21,..
20. Guided Problem Selving A female bee Ancestors
has two biological parents—a femaleand (F) &) ® 3
amale. A male bee has only one ® ® )
biological parent, a female. The numbers -
of ancestors form a number sequence. Is ® 1
the sequence arithmetic, geometric, both, ®
or neither?

© Makea Plan Make a family tree of a male bee’s ancestors.
Show five generations. Find the number of ancestors in
each generation.
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1. Vocabulary A pattern for a sequence is described as start with 12
and divide by 4 repeatedly. Ts this a geometric sequence? Explain.

2. Can two different arithmetic sequences have the same common
difference? Explain.

3. What s the common difference in the sequence 35,29, 23,17,

Find the missing term in each sequence.
4. 6,13,20, 1, 34,41 5. 100, 50, 25, 1%, 6.125




